

©2022 YHAL, YITP, Kyoto University
京都大学基礎物理学研究所 湯川記念館史料室

Interaction of Higher Orders

~~between the various sorts of phenomena, which~~
~~qualitative~~

Yukawa Hall Archival Library
Research Institute for Fundamental Physics
Kyoto University, Kyoto 606, Japan

E 02070P12

○ Quantization の問題

§2. Quantization of the U-field in the absence of the electromagnetic field
 Lagrangian $\bar{L}_U = \iiint L_U dv$,

where $L_U = \frac{1}{4\pi} \left\{ \frac{1}{c^2} \frac{\partial \tilde{U}}{\partial t} \frac{\partial U}{\partial t} - \text{grad } \tilde{U} \text{ grad } U - \lambda^2 \tilde{U} U \right\}$.

Canonical Conjugate to U, \tilde{U}

$$U^\dagger = \frac{\delta \bar{L}_U}{\delta \frac{\partial U}{\partial t}} = \frac{1}{4\pi c^2} \frac{\partial \tilde{U}}{\partial t}$$

$$\tilde{U}^\dagger = \frac{1}{4\pi c^2} \frac{\partial U}{\partial t}$$

Hence, $L_U = 4\pi c^2 \tilde{U}^\dagger U^\dagger - \frac{1}{4\pi} \text{grad } \tilde{U} \text{ grad } U - \frac{\lambda^2}{4\pi} \tilde{U} U$.

Vertex charges:

$$U^\dagger(\vec{r}, t) U(\vec{r}, t) - U(\vec{r}, t) U^\dagger(\vec{r}, t) = -i\hbar \delta(\vec{r}, \vec{r}')$$

$$\tilde{U}^\dagger(\vec{r}, t) \tilde{U}(\vec{r}, t) - \tilde{U}(\vec{r}, t) \tilde{U}^\dagger(\vec{r}, t) = -i\hbar \delta(\vec{r}, \vec{r}')$$

$$\bar{H}_U = \iiint H_U dv$$

$$H_U = \frac{\partial U}{\partial t} U^\dagger + \tilde{U}^\dagger \frac{\partial \tilde{U}}{\partial t} - L_U$$

$$= 4\pi c^2 \tilde{U}^\dagger U^\dagger + \frac{1}{4\pi} \text{grad } \tilde{U} \text{ grad } U + \frac{\lambda^2}{4\pi} \tilde{U} U$$

$$\cancel{U} = \left(\frac{4\pi}{m_U} \right)^{\frac{1}{2}} \hbar U \quad \cdot \quad \cancel{\tilde{U}} = \left(\frac{4\pi}{m_U} \right)^{\frac{1}{2}} \hbar \tilde{U}$$

$$\cancel{U^\dagger} = \frac{1}{4\pi c^2} \cancel{\tilde{U}^\dagger}$$

$$\cancel{H_U} =$$

$$H_M = \iint \Psi \left[\frac{\vec{p}^2}{2M} + \frac{g}{2} \{ \tilde{U}(\tau, -i\tau) + U(\tau, +i\tau) \} + \frac{D}{2} \tau_3 \right] \Psi d\omega$$

(2.1) τ_3 は Pauli matrix, τ_3 は Hermitian の original τ_3 である. $J(r) = g^2 \frac{e^{-\lambda r}}{r}$ (2.18)

Heisenberg Particle
 Current Density.

$$i\hbar \frac{\partial \Psi}{\partial t} = \frac{1}{2M} (-i\hbar \text{grad})^2 \Psi + \frac{g}{2} \{ \tilde{U}(\tau, -i\tau) + U(\tau, +i\tau) \} \Psi$$

$$-i\hbar \frac{\partial \tilde{\Psi}}{\partial t} = \frac{1}{2M} (i\hbar \text{grad})^2 \tilde{\Psi} - \frac{g}{2} \tilde{\Psi} \{ \tilde{U}(\tau, -i\tau) + U(\tau, +i\tau) \}$$

$$i\hbar \frac{\partial (\Psi \tilde{\Psi})}{\partial t} = \frac{(i\hbar)^2}{2M} \text{grad} \{ \tilde{\Psi} \text{grad} \Psi - \Psi \text{grad} \tilde{\Psi} \}$$

Charge-current Density

$$i\hbar \frac{\partial}{\partial t} \left(\tilde{\Psi} \frac{1-\tau_3}{2} \Psi \right) = \frac{(i\hbar)^2}{2M} \text{div} \left(\tilde{\Psi} \frac{1-\tau_3}{2} \text{grad} \Psi - \Psi \frac{1-\tau_3}{2} \text{grad} \tilde{\Psi} \right) - \text{grad} \tilde{\Psi} \cdot \frac{1-\tau_3}{2} \Psi$$

$$+ \frac{g}{2} \tilde{\Psi} \left\{ \tilde{U} \left\{ \frac{1-\tau_3}{2} (\tau, -i\tau) - (\tau, -i\tau) \frac{1-\tau_3}{2} \right\} + U \left\{ \frac{1+\tau_3}{2} (\tau, +i\tau) - (\tau, +i\tau) \frac{1+\tau_3}{2} \right\} \right\} \Psi$$

$$= -\frac{g}{2} \tilde{\Psi} \{ \tilde{U}(\tau, -i\tau) + U(\tau, +i\tau) \} \Psi$$

$i\tau_3 + i \cdot i\tau_3$
 $i\tau_3 - \tau_3$

~~$\Delta - \lambda^2$~~

$$\tilde{\nabla}^2 \frac{1}{c} \frac{\partial \tilde{U}}{\partial t^2} = (\Delta - \lambda^2) \tilde{U} + 4\pi g \tilde{\Psi} \frac{\tau_3 - i\tau_3}{2} \Psi$$

$$-\nabla^2 \frac{1}{c} \frac{\partial U}{\partial t^2} = (\Delta - \lambda^2) U + 4\pi g \tilde{\Psi} \frac{\tau_3 + i\tau_3}{2} \Psi$$

(3)

$$\frac{1}{c} \frac{\partial}{\partial t} \left(\tilde{U} \frac{\partial U}{\partial t} - \frac{\partial \tilde{U}}{\partial t} U \right) = \text{div} \left(\tilde{U} \text{grad} U - \text{grad} \tilde{U} \cdot U \right)$$

$$+ 4\pi g \Psi \left(U \frac{\tau_1 - i\tau_2}{2} + U \frac{\tau_1 + i\tau_2}{2} \right) \Psi$$

$$i\hbar \frac{\partial}{\partial t} \left(\Psi \frac{1 - \tau_3}{2} \Psi + \frac{1}{4\pi \hbar c} \left(\tilde{U} \frac{\partial \Psi}{\partial t} - \frac{\partial \tilde{U}}{\partial t} U \right) \right)$$

$$= \text{div} \left(\Psi \frac{i\hbar}{2M} \left(\tilde{U} \frac{1 - \tau_3}{2} \text{grad} \Psi - \text{grad} \tilde{U} \cdot \frac{1 - \tau_3}{2} \Psi \right) \right)$$

$$+ \frac{1}{4\pi} \left(\tilde{U} \text{grad} U - \text{grad} \tilde{U} \cdot U \right)$$

∴ charge density is

$$\rho = \frac{e}{4\pi \hbar c^2} \left(\tilde{U} \frac{\partial U}{\partial t} - \frac{\partial \tilde{U}}{\partial t} U \right) = \frac{e}{\hbar c} \left(\tilde{U} \dot{U} - U \dot{\tilde{U}} \right)$$

$$\frac{U^\dagger}{4i\hbar} = u^\dagger$$

$$\frac{\tilde{U}^\dagger}{i\hbar} = \tilde{u}^\dagger$$

$$= e \left(\tilde{u}^\dagger u - u^\dagger \tilde{u} \right)$$

$$u^\dagger u' - u' u^\dagger = -\delta$$

$$\tilde{u}^\dagger \tilde{u}' - \tilde{u}' \tilde{u}^\dagger = \delta$$

~~vis U and \tilde{U} ^{neg} charge of quantum
 \tilde{U} and U ^{pos} charge of quantum e & $\hbar c$.~~

$$U^\dagger = c (\varphi_1 + \varphi_2^\dagger) \quad U = i \frac{\hbar c}{2} (\varphi_1^\dagger - \varphi_2)$$

$$\tilde{U}^\dagger = c (\tilde{\varphi}_1 + \varphi_2) \quad \tilde{U} = -i \hbar c (\varphi_1 - \tilde{\varphi}_2)$$

$$U^\dagger U' - U' U^\dagger = -i\hbar \delta$$

$$\tilde{U}^\dagger \tilde{U}' - \tilde{U}' \tilde{U}^\dagger = i\hbar \delta$$

(4)

~~$(\varphi_1 + \tilde{\varphi}_2) i \hbar c' (\tilde{\varphi}'_1 - \varphi_2) =$~~

$$\varphi_1 = \frac{U^\dagger}{2c} + \frac{i\hbar}{2c'} \tilde{U} \quad \tilde{\varphi}_1 = \frac{\tilde{U}^\dagger}{2c} - \frac{i\hbar}{2c'} U$$

$$\varphi_2 = \frac{\tilde{U}^\dagger}{2c} + \frac{i\hbar}{2c'} U \quad \tilde{\varphi}_2 = \frac{U^\dagger}{2c} - \frac{i\hbar}{2c'} \tilde{U}$$

$$\tilde{\varphi}_1 \varphi_1 - \tilde{\varphi}'_1 \tilde{\varphi}_1 = \frac{i\hbar}{4cc'} (\tilde{U}^\dagger \tilde{U}' - \tilde{U}' \tilde{U}^\dagger)$$

$$- \frac{i\hbar}{4cc'} (U U^\dagger - U^\dagger U)$$

$$= + \frac{\hbar \delta}{4cc'} + \frac{\hbar \delta}{4cc'} = \frac{\hbar \delta}{2cc'} = -\delta,$$

$$c' = -\frac{\hbar}{2c}$$

$$U^\dagger = c_0 (\varphi_1 + \tilde{\varphi}_2)$$

$$U = \frac{i\hbar}{2c_0} (\tilde{\varphi}'_1 - \varphi_2)$$

$$\tilde{U}^\dagger = c_0 (\tilde{\varphi}_1 + \varphi_2)$$

$$\tilde{U} = \frac{i\hbar}{2c_0} (\varphi_1 - \tilde{\varphi}_2)$$

$$\rho = e \{ (\varphi_1 - \tilde{\varphi}_2) (\tilde{\varphi}'_1 + \varphi_2) + (\varphi_1 + \tilde{\varphi}_2) (\tilde{\varphi}'_1 - \varphi_2) \}$$

$$= e \{ \varphi_1 \tilde{\varphi}'_1 - \tilde{\varphi}_2 \varphi_2 \}$$

δ -function is a const. term $\propto \delta(x)$

$$\rho = e \{ \tilde{\varphi}_1 \varphi_1 - \tilde{\varphi}_2 \varphi_2 \}$$

∴ $\varphi_1, \tilde{\varphi}_1$ is positive charge quantum

$\varphi_2, \tilde{\varphi}_2$ is negative / , $\tilde{\varphi}_1 \varphi_1$

$$H_U = 4\pi c^2 (\tilde{\varphi}_1 + \varphi_2)(\varphi_1 + \tilde{\varphi}_2) \\ + \frac{\hbar^2}{4\pi c^2} \text{grad}(\varphi_1 - \tilde{\varphi}_2) \text{grad}(\tilde{\varphi}_1 - \varphi_2) \\ + \frac{\lambda^2 \hbar^2}{4\pi c^2} (\varphi_1 - \tilde{\varphi}_2)(\tilde{\varphi}_1 - \varphi_2)$$

$$\varphi_1 = \sum a_{\vec{p}} \exp \frac{i\vec{p}\vec{r}}{\hbar}$$

$$\varphi_2 = \sum a_{\vec{p}} \exp \frac{i\vec{p}\vec{r}}{\hbar}$$

$$\overline{H}_U = \left(4\pi c^2 + \frac{\hbar^2}{4\pi c^2} \cdot p^2 \right) \varphi a_{\vec{p}}^\dagger a_{\vec{p}} \\ + \dots$$